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1.

This booklet 1s your Question Paper. DO NOT break
seal of Booklet until the mvigilator mstructs to do so.

Fill your NAME, DISTRICT, ROLL NO. and BLOCK
m the space provided on the top of this page.

The Answer Sheet is provided to you separately which
1is a machine readable Optical Response Sheet (ORS).
You have to mark your answers m the ORS by
darkening bubble, as per your answer choice, by using
black & blue ball point pen.

Total Questions to be Attempted 50.

This paper contains 50 questions. Please check your
paper, before attempting.

Marking Scheme:

a. Ifdarkened bubble is RIGHT answer: 4 Marks.

b. If no bubble is darkened m any questions: No
Mark.

c. If darkened bubble is WRONG answer: -1 Mark
(Minus One Mark).

Think wisely before darkening bubble as there 1s
negative marking for wrong answer.

If you are found involved mn cheating or disturbing
others then your ORS will be cancelled.

Do not put any stam on ORS and hand it over back
properly to the mvigilator.
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A bell rings every 18 minutes. A second
bell rings every 24 minutes. A third bell
rings every 32 minutes. If all the three bells
ring at the same time at 8 o'clock in the
morning, at what other time will they all
ring together?

T H B 18 fire W Al @ | ue gud wd ' 24

e W soidt ® | U W g e 32 fime W
sttt 81 Afe wft ot wifeat wek & w7 goe 8
o et €, @ gE o e w F i o a
T 9

(A) 12:40 hrs
(C) 12:56 hrs

(B) 12: 48 hrs
(D) 13:04 hrs

A and B decide to travel from place X
to place Y by bus. A has 10 with him
and he finds that it is 80% of the bus
fare for two persons. B finds that he
has %3 with him and hands it over to A.
In this context, which one of the
following statements is correct?

A 3R B &H g0 T X 8 T Y Tk S T

e & | AFIE 10 € 3 3T T I e
for ar iy gt safrat & ferw s fere =61 80% 2|
BFUER Aeae @ ag A®gcare | s8
e i, fraferfiaa @ @ 9-91 T e el 8 2

(A) Now the money A has is just
enough to buy two tickets./ A & ud
& S TeRdl ®, I8 O af ferel & foru &
TTH R |

(B) A still needs ¥ 2 for buying the
tickets./ A =l fesh @it & faw 7 2 37K
=T |

(C) After buying the two tickets A will
be left with 50 paise./ &t feoe @ie
& &1 A o I 50 T 5= ST |

(D) The money A now has is still not
sufficient to buy two tickets/A & ar
3T ST kel ®, I8 3T off a1 ore Wl &

fer g &R |

The volumes of two spheres are in the
ratio 64: 27 and the sum of their radii is
7 cm. The difference in their total
surface area is

a1 T o ARG AT H ® 64: 27 3R AR
Foarait 1 AWt 7 . R 3T F W S
7 3faT Rl

(A) 38 cm? (B) 58 cm?

(C) 78 cm? (D) 88 cm?
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A pole of height 14 m casts a 10 m
long shadow on the ground. At the
same time, a tower casts a 70 m long
shadow on the ground. Find the height
of the tower.

ST F U U7 SHE T/ 10 Hier oelt srr
STaT B SN UH, Teh 2ral S 9T 70 Hiet oet
BT STdT 2| HFR ht S 1 hifere |

(A) 50 m

(B) 78 m

(C)90 m

(D) 98 m

If two complementary angles are in the
ratio 7:11, find the supplement of the
bigger angle.

< 31 gLk RI0T 7:11 o ST H 6, 1 S 0T T
TG IV T T

(A) 105

(B) 115

(C) 125

(D) 135

6.

A parallelogram and a rhombus are
equal in area. The diagonals of the
rhombus measures 120 m and 44 m. If
one of the sides of the parallelogram
measures 66m, find its corresponding
altitude.

T FHIAT ST ST T TGS &t H s
2| Traqs & fowon i @ 120 e IR 44
ez 21 fe vt aqds i v s F AT 66

et &, 1 SHH G IS e J1d I |
(A) 40 m (B) 50 m
(C)60m (D) 70 m

In a row ‘A’ is in the 11th position from
the left and ‘B’ is in the 10th position
from the rightt If ‘A’ and ‘B’
interchange, then 'A' becomes 18th
from the left How many persons are
there in the row other than 'A' and 'B' ?
foret dfth A" SIS IR T 119 TIH W 2 3B
e TR T 104 T W 2 | AT A 3R 'B' 3199
H T 959 o, A1 'A' 915 IR ¥ 189 TIH W &
STTaT 81 U | 'A' 3TR'B' o 3TTdT foha safh & 2
(A) 27 (B) 26

(C) 25 (D) 24
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The sum of the digits of a two-digit
'number is 15. The number obtained by
interchanging the digits exceeds the
given number by 9. The number is

Y 3fhT St U TEAT F I AN 15 B 2FH A
IT9E § I 9T TTH G&AT S TS e ¥ 9 At
2 HEa e

(A) 96 (B) 69

(C) 87 (D) 78

Consider the following statements :
There are six villages A,B, C, D, E and
F.

Fis 1 km to the west of D.

Bis 1 km to the east of E.

A s 2 km to the north of E.

C is 1 km to the east of A.

D is 1 km to the south of A.

Which three villages are in a line?
fr=fafaa oAt | faem s :
A,B,C,D,ETIFBaTa® |
FriaD e | foadt afamag
B Mia s 1 fr . @ H 2

AT E e & 2 T30, SaeH 8

CTia AT 1 frdt. @d 2|

D 7 A a1 frt afaori g
- of I Tl Uk T (AT T E 2
(A)A,C,B (B)A,D, E
(C)C,B, F (D)E,B,D

10. There are 50 students admitted to a
nursery class. Some students, can
speak only English and some can
speak only Hindi. 10 students can
speak both English and Hindi. If the
number of students who can speak
English is 21, then how many students
can speak Hindi, how many can speak
only Hindi and how many can speak
only English?

Uk FH T | 50 forenteat s yaet fear |
o famff Fae HHUsh aiet gehd & 3T o Fad
fot et Terd B 10 ferameff sk sfic o< <t
siret R 81 A 3 Franofe e, S st
et T ©, 21 2, a1 o fammeff fa=<ht sier wesdt
2, forae ot T oIt Wakdl & 37 Torae et
TS ST dohd & 2

(A) 21,11 and 29 respectively/ sHIT: 21,
11 3R 29

(B) 28, 18 and 22 respectively/ shHT: 28,
18 3R 22

(C) 37, 27 and 13 respectively/ shHzT: 37,
27 3R 13

(D) 39, 29 and 11 respectively/ shHsT: 39,
29 AR 11
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12,

. Red queens and black

jacks are
removed from a pack of 52 playing
cards. A card is drawn at random from
the remaining cards, after reshuffling
them. Find the probability that the
drawn card is a face card

AT 3 52 TN I U TSl W U ATed THT N e
Sleh THRTEAT ST 21 I el § SieEee o o a8
TG BT U Uk 1S Fohrel ST 2l Wifrshar
JTa IS fof ForehTaT 7T o Ueh T ATt o @
(A) 172 (B) 3/4

(C) 4/5 (D) 1/6

Five persons fire bullets at a target at
aninterval of 6, 7, 8, 9 and 12 seconds
respectively. The number of times they
would fire the bullets together at the
target in an hour is

Ui Ak TH A% W R 6, 7, 8, 9 I 12

YIS & FAUS W Ml R & | Uh & H o

e 9T e G fopat st miferat gmi 2
(A)6 B)7
(C)8 (D) 9

13. A gardener increased the area of his

14.

rectangular garden by increasing its
length by 40% and decreasing its width

by 20%. The area of the new garden
T HIElT 304 TEARR e @€ g § 40%

i T =SS H 20% Feft L 5 el o6 At
4 g5 AT 2| T == o &

(A) has increased by 20%/20% @ Siar
gl

(B) has increased by 12%/12% ®g Siar
2|

(C) has increased by 8%/8% ¢ WaT 2 |

(D) is exactly the same as the old area/
foretepet QU &k fSreT & |

An AP starts with a positive fraction
and every alternate term is an integer.
If the sum of the first 11 terms is 33,
then find the fourth term.

T AP U ¢HTCH 9= & TRY 2T ® 37 T

TSI 9 T YUITeh 2aT 2 afs geet 11 W&l & 0
33 2, dl =tr ug rd ifsg)

(A) 2 B)3

(C)4 (D)5
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15.

16.

A straight line segment is 36 cm long.
Points are to be marked on the line
from both the end points. From each
end, the first point is at a distance of 1
cm from the end, the second point is at
a distance of 2 cm from the first point
and the third point is at a distance of 3
cm from the second point and so on. If
the points on the ends are not counted
and the common points are counted as
one, what is the number of points ?

Tsh T (@IEVE 36 cm T & | 39 @1 0, @i &
T St fergat @ formg sifera T € | el i
forg @, veeT fog i@ fog & 1 cm 1 T W,
a@%@%@rﬁgﬁzcmaﬁaﬁwﬁm
%@'aﬁ%@ﬁ 3cm6ﬁf§3\°fq“{%3ﬁ'{aﬁﬁ31ﬁ
T 2 | At sier fagait @ T fmr S sk
g forgatt 1 1 fimT e, @t fargait 6 e
FTR?
(A) 10
(C) 14

(B) 12
(D) 16

tan 35°/cot 55°+cot 78°/tan 12°=7?
(A)O (B) 1
(C)2 (D) none of these

17

18.

A tangent AB, at a point A of a circle of
radius 5 cm, meets a line through the
centre O at point B such that OB =12
cm. Length ABis

5 Gt 3 ool Ok o & feig A o2 Tl W AB,
F% O ¥ 99 ATl U v ¥ fofg B W 38 TR
et 2 T OB = 12 ot =g AB R

(A) 5cm (B) 12 cm

(C)13cm (D) ¥119 cm

The lettersL, M, N,O,P,Q,R,Sand T
in their order are substituted by nine
integers 1 to 9 but not in that order. 4 is
assigned to P. The difference between
P and Tis 5. The difference between N
and T is 3. What is the integer
assigned to N ?

L,M,N, O, P, Q, R, S 3R T 37& ! =t YUiehi,
1 ¥ 9 & wiceentia faha ST &, weg et s &
& | P w4 Fuif@ ? | P 3R T & st 3T 5

2| N 3R T &= A 3 81 N & foe fFaifa

qUTTeh T R 2
(A7 B)5
(C)4 (D)6
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19.

20.

A father is nine times as old as his son
and the mother is eight times as old as
the son. The sum of the father's and
the mother's age is 51 years. What is
the age of the son ?

U foar T 3|, Ik T 1 37 A A T R q

WIS 3W 36 A 1 3 1 TS T @ | e 3
WTAT 3 S T ANTHSA 51 a9 & | JoF < ST TR 2
(A) 7 years
(C) 4years

(B) 5years
(D) 3years

An automobile owner reduced his
monthly petrol consumption when the
prices went up. The price-consumption
relationship is as follows:

If the price goes up to %80 per litre, his

expected consumption (in litres) will be

Tk AL TSl & ATfoTeh o, U2iet hi Shid sigd I,
I AT YIS T STANT HA o fo=m | hra-
IO G 3 TR

I (% T AT H) 40 50 60 | 75

T ST (et 60 | 48 | 40 | 32
)

Ife Himg o8 o T 80 Ui ieT aeF & ST, ar

T STHTIT ITHIT ( et 7) o & 2
(A) 30 (B) 28
(C) 26 (D) 24

21.

22.

The radius of a circle whose
circumference is equal to the sum of
the circumferences of the two circles of

diameters 36 cm and 20 cm is
T g ol Frsan, fomeht aftfr 36 aft 3fiv 20 Tk

ST T &1 g ol Ufefer 3 A0 S se 7, B
(A) 56 cm (B) 42 cm
(C) 28 cm (D) 16 cm

In a 500 metres race, B starts 45
metres ahead of A, but A wins the race
while B is still 35 metres behind. What
is the ratio of the speeds of A to B
assuming that both start at the same
time ?

500 Hiex i gig 4, B, A ¥ 45 HieT A1 9 I
FAT &, SifehT A S Siid ST & Siaifeh B 3nft ot
35 Hiet ie TEdT 8 | T8 WA Y ok G U
T AT I 3 &, A il 91 & B F A
Y, ST TR 2
(A) 25:21
(C)5:3

(B) 25:20
(D) 57

Space for Rough Work



Entrance Exam Level -1

. In a group of persons travelling in a

bus, 6 persons can speak Tamil, 15
can speak Hindi and 6 can speak
Gujarati. In that group none can speak
any other language. If 2 persons in the
group can speak two languages only
and one person can speak all the three
languages, then how many persons
are there in the group?

foRel s ¥ AT G ATl SAREAT % U 998 H, 6
Tk et sieT Uohd 8, 15 ST fewal dict ahd &
I 6 AT TSIl STt Hahd @ | 36 T8 1 hig ol
Sk oIS AT WINT &1 Sllet Gehal | TS 56 WE
2 T had &I WINTE I Hehd & 3R T ARk
aft i e Sie WA 8, d9 39 YR H o
foraa=aftr & 2
(A) 21

(C) 23

(B) 22
(D) 24

24.

25;

In AABC, ZA=40° and #B=60°. Then,
the longest side of AABC is

ABC T, ZA=40° 3R /B=60° 8l @, AABC
EACEREIR S

(A)BC

(B) AC

(C) AB

(D) cannot be determined

If (2k-1, k) is a solution of the equation
10 x-9y=12, then k=

Ife (2k-1, k) G 10 x-9y=12 FTEA &, Al k=
(A) 1 (B)2

(©)3 (D)4
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26. A person ordered 5 pairs of black

socks and some pairs of brown socks.
The price of a black pair was thrice that
of a brown pair. While preparing the
bill, the bill clerk interchanged the
number of black and brown pairs by
mistake which increased the bill by
100%. What was the number of pairs
of brown socks in the original order?

T ATh 7 5 SIS FI Alst 3R FS Se 9L A
=T FHTS TG | T et SIS oh1 3hiAa Uk oL SIS
1 S O T off| o ST e, T ok
T S 9L SISl I W& FI el § 306 |
o e forash &R0 o 100% s¢ T | 5

TS H UATS! o Sl hl dear 1 off 2
(A) 10 (B) 15
(C) 20 (D) 25

27.

28.

Two equal glasses of same type are
respectively 1/3 and 1/4 full of milk.
They are then filled up with water and
the contents are mixed in a pot. What
is the ratio of milk and water in the pot?
T & TR & o 99T e shieT: 1/3 371 1/4

TIY W | T 5 AIATET 3 GO &M a9 e 4
W TTIT, SR Frere H gy 5 (o) o ur

T fire e T 5o a5 ur o ST FE 2
(A) 7:17 (B) 1:3
(C) 9:21 (D) 11:23

Two pipes A and B can independently
fil a tank completely in 20 and 30
minutes respectively. if both the pipes
are opened simultaneously, how much
time will they take to fill the tank
completely ?

ST et A TR B Torelt 3 b1 31hT-37eRT shieT: 20
3R 30 e 3 g1 9wk ) ATe 31 Aot U A
Qe Teu ST, A1 2ehi 1 T %8 R 1 3= fohal

HHI TR ?

(A) 10 minutes
(C) 15 minutes

(B) 12 minutes
(D) 25 minutes
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29.

30.

There are 5 tasks and 5 persons.
Task-1 cannot be assigned to either
person-1. or person-2. Task-2 must be
assigned to either person-3 or
person4. Every person is fo be
assigned one task. In how many ways
can the assignment be done?

5 %M § 3R 5 =AfE 8| FE-1, A af =afw 1 6
1T SAfh 2 &l foar S gesar | w2, arar
ATk -3 I AT ATth-4 I & feam ST 9Tfey |
& A o Uk A foar S R1 Ft fohae afient
o fear s gerar® 2
(A)6

(C) 24

(B) 12
(D) 144

Two cities A and B are 360 km apart. A
car goes from A to B with a speed of
40 km/hr and returns to A with a speed
of 60 km/hr. What is the average speed
of the car?

3l BT A I B -8 & 360km I T T8 TH

H A U B @ 40 km/hr S =767 § STl @ 3T 60
km/hr T =T H A Toh A AT 2] Al 3Ed
TIAFTE ?

(A) 45 km/hr
(C) 50 km/hr

(B) 48 km/hr
(D) 55 km/hr

31.

The monthly incomes of Peter and
Paul are in the ratio of 4 : 3. Their
expenses are in the ratio of 3 : 2. If
each saves ¥ 6,000 at the end of the
month, their monthly  incomes
respectively are (in %)

et 37 dier <t Wifde TRT 4: 3 % STuTa | € |
Ik o9 3 ;2 U H € | I " ok FHa H
I Atk T 6,000 H SET FAT B, AT IR
TR ST (TT) ShOST: T 8 2

(A) 24,000 and 18,000/24,000 37K 18,000
(B) 28,000 and 21,000/28,000 37 21,000
(C) 32,000 and 24,000/32,000 3T 24,000

(D) 34,000 and 26,000/34,000 3R 26,000

Space for Rough Work
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32. A cow costs more than 4 goats but less

than 5 goats. If a goat costs between 2
600 and %800, which of the following is
a most valid conclusion ?

U M F Haa 4 seiEr H i o e )

e 5 SRIET ot hoa & AR | FfS T st ol

#Fmd T 600 3R TR0 % &t &, af F=fafaa A9

F-91, gaTad 9 feamd 8 2

(A) A cow costs more than 2,500/t
T Sl A 22,500 | S 7 |

(B) A cow costs less than %3,600/ T
T ST ShiHd 73,600 HHA 2 |

(C) A cow costs between ¥ 2,600 and
3,800/ ww TR i HET T 2,600 I T
3,800 F =2 |

(D) A cow costs between % 2,400 and
4,000/ W T T T T 2,400 I T
4,000 F =7 |

33. Candidates in a competitive

examination consisted of 60% men and
40% women. 70% men and 75%
women cleared the qualifying test and
entered the final test where 80% men
and 70% women were successful.
Which of the following statements is
correct?

foreft ifcrmmeft wiier & 60% oW 3R 40% Afea
aireTeff o | 70% &Y I 75% Hfeer Sraeitieg |
3Teeh TTETUT 7 |t BIoRL AT TTaor 7 9T foram
TS/ 80% T 3TN 70% HiEaTE Hhe |
foforfiea & & w-a1 TR E 89

(A) Success rate is higher for women/

TfeersT @ gheldT s ITadl R |

(B) Overall success rate is below 50%/
I GHATT X 50% T AT R |

(C) More men cleared the examination
than womenV eI i 3T&T gy
Fforer & H U & |

(D) Both (A) and (B) above are correct/
I (A) TR (B) I 6T 2
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34. There are some balls of red, green and

yellow colour lying on a table. There
are as many red balls as there are
yellow balls. There are twice as many
yellow balls as there are green ones.
The number of red balls

T WS O AT, B A et O7 e TG T B
2l et dieft 7ic 2, 3ot & are TG 2 il i,
= it &g 8 et it g,

(A) is equal to the sum of yellow and
green balls/ diclt 3t & 7iel & Sie
IBGEIE

(B) is double the number of green
balls/ & el &g =1

(C) is equal to yellow balls minus
green balls/ dich ef & @ & Tiar i
ST ST GeaT 8 S 2 |

(D) cannot be ascertained/F& =@E S
T 2l

35. A gardener has 1000 plants. He wants

36.

to plant them in such a way that the
number of rows and the number of
columns remains the same. What is
the minimum number of plants that he

needs more for this purpose?
U WIS & 9T 1000 U & I- 37 °rGl 6 59

TSR TRTHT =Teal & foed gfrat ot &t 6
H&IT G Il 39 folw e F9-9-y Toraq

3 31feren et bt ST 2
(A) 14 (B) 24
(C) 32 (D) 34

In a rare coin collection, there is one
gold coin for every three non-gold
coins. 10 more gold coins are added to
the collection and the ratio of gold
coins to non-gold coins would be 1: 2.
Based on the information, the total
number of coins in the collection now
becomes

Tk g foerehi o & A, wid o st feenl w
T T e B | @UH 10 Tl fgeeh 3 e fou
ST & 37 ol qu1 et feshl 1 3 1 : 2

&1 ST 2| 9 T o ST W, T F el faahi

I T 37E AT R ST 2
(A) 90 (B) 80
(C) 60 (D) 50
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37.

38.

if x+2 is a factor of X2+ m x + 14, then
m=

zl'%x+2., X +mx+ 14@@1?13@%,3“[111:
(A) 7 (B) 2

C)9 (D) 14

Cards, each marked with one of the
numbers 6, 7,8, ....15are placed ina
box and mixed thoroughly. One card is
drawn at random from the box. What is
the probability of getting a card with
number less than 107

o Frew, SRl 6, 7, 8, ..., 15 GEAISATH 4 T
o arer fafea wer siea I Tar Sirar & 37 33
e e ST 21 St 9 U S geedr
foreRTeT SITAT 21 10 ¥ o9 &A1 aTell 1S ITH 3
$r alERaTFT 86,7, 8, a

(A) 4/5 (B) 3/5

(C) 1/5 (D) 2/5

39.

40.

A thief running at 8 km/hr is chased by
a policeman whose speed is 10 km/hr.
If the thief is 100 m ahead of the
policeman, then the time required for

the policeman to caich the thief will be
8 ferdi/eie <1 =T w0 <ied §¢ R ST 10

ferrfl/eie < =Tt & Srear gaT gferaaTen o @ 2l
afe IR gfcwarer @ 100 #Hex A0t 2, @ =’ A
UehgH H Yforearet ol fehaT e & 2

(A) 2 min (B) 3 min

(C) 4 min (D) 6 min

A ftrain travels at a certain average
speed for a distance of 63 km and then
travels a distance of 72 km at an
average speed of 6 km/hr more than its
original speed. If it takes 3 hours to
complete the total journey, what is the
original speed of the train in km/hr ?

Ig LerTel forell Sitea =l | 63 forlt ot e
Tt & TR ae 319 IRiBes =1er § 6 fohet /ger
ferep o1 3o =Ter o 72 Terrt ot gl o= et 2l
afd 38 T A §O R F 3 0 FId G ar

el i IR =T R /EeT AT R 2
(A) 24 (B) 33
(C)42 (D) 66

Space for Rough Work
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41.

42.

Out of 120 applications for a post, 70
are male and 80 have a drivers
license. What is the ratio between the
minimum to maximum number of
males driver's license? Having

foreft aa & 7w, 120 3T1esht # & 70 99 € 37K 80
o TH IS ATSHE 2 IS Arseedn gen
=i Fferehad SR =aH BEAT & s 1 39
BT ?

(A) 1to 229 1=

(B) 2to 3/3& 2%

(C)3to 7/783H

(D) 5t0 7/7 85

In a garrison, there was food for 1000
soldiers for one month. After 10 days,
1000 more soldiers joined the garrison.
How long would the soldiers be able to
carry on with the remaining food?

T A & 1000 & % fow ok 7d@ w5 Ise
ol 10 f&7 % are, 1000 Afifes afvs Afww o
T BU < T ISH § A foha faT oM
Tl G 2

(A) 25 days
(C) 15 days

(B) 20 days
(D) 10 days

43.

44,

The tank-full petrol in Arun's motor-
cycle lasts for 10 days. If he starts
using 25% more everyday, how many
days will the tank-full petrol last?

3701 i HYex Arsferet & St ) Ugiet 10 T <rerar
21 AfE 7 Ffafe 25% 3Hfer IwImT % o 3T 8,
T et R Ygiet fera e =reim 2

(A) 5 (B) 6

(C)7 (D)8

Three angles of a quadrilateral are 54,
80 and 116. Find the measure of the

fourth angle
T IS & A FIT B 54, 80 R 116 | =

SRIUT ST AT T ShI[STT

(A) 120
(C) 100

(B) 105
(D) 110

Space for Rough Work



Entrance Exam Level - I

45. The measure of the angle of a

quadrilateral are 40, 80 and 100. Find

the measure of the fourth angle. The

following steps are involved in solving

the above problem. Arrange them in

sequential order.

() x = 360-220

(1) Let the measure of the fourth angle
be x

(I The fourth angle, x is 140

(V) 40 + 80 + 100 + x =360

SIS % 0TS HIT B 40, 80 and 1001 =TeF 0T

T AT 1A 7Y

SWITh TR ! 8 B ffeifaa = snfae

&) 3% FFHTTHR AT i

(DX =360 - 220

(11) AT =S ShioT ehi 719 x 2

(I1T) =TI, x - 140 B

(IV) 40 + 80 + 100 + x = 360

(A) LILIV,III  (B) LIIL L IV

(C) IL L 1V, I (D) IL IV, L I

46.

47.

48.

225 plants are to be planted of rows.
Find the number of rows and the
number of plants in each row.

1225 SFUTEr YRl § T & UThaT Shl HdT 3T
Tk feh 3 Ut S dEar Jra Hifs |

(A) 25 (B) 35

(C) 45 (D) 65

A vendor bought oranges at 20 for
Rs.125 and sold them at Rs.90 per
dozen. Find his gain or loss percent.

e farshar 3 20 o feara @ 125 ° gat @i 3K
3% 90 uid i & TeaTa 9 o= e Sgar ey ar

B ieTd 1 s |
(A) 30% (B) 20%
(©)10% (D) 05%

The dimensions of a room are (10m x
8m x 3.3m). How many men can be
accommodated in this room if each
man requires 3m? of space?

U FAEC T (10m x 8m x 3.3m) & IR
T Skl 3m’ SUTE &1 TEvIHaT & al 3

A H fora 31eHY T8 Gehd 87
(A) 99 (B) 88
(C) 77 (D) 75

Space for Rough Work
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Entrance Exam Level -1

49. Qut of a total of 120 musicians in a

club, 5% can play all the three
instruments, guitar, violin and flute. k
so happens that the number of
musicians who can play any two and
only two of the above instruments is
30. The number of musicians who can
play the guitar alone is 40. What is the
total number of those who can play
violin alone or flute alone?

T Fe o el 120 it 5 & 5% fer, arries
3R igd, T arer ST wohd @ | ST 9l H ¥
IS a1 3R el &1 e S oy aTel St sl
TEAT 30 B | S Efias dhae fer s 9o 8, 9
40 B v i 6 I AT S S Fad
AT SIS |l & AT it S ST Heohd @ |
(A) 45 (B) 44

(C) 38 (D) 30

50. A ladder 15m long just reaches the top

of a vertical wall. If the ladder makes
an angle of 60 with the wall, find the
height of the wall.

15 HieX Tt T Wil U Wl AR & 3 FW

qEeIdT 21 AR HIET AR & 60° T HI01 ST 2, A

SR Sars I1a i)
(A) 85m (B) 7.5m
(C) 95 m (D) 6.5m

Space for Rough Work



